S207

ARENDSNEST
NID D'AIGLE
ADLERHORST
EAGLE 'S NEST
NIDO DE AGUILA
NID D'AIGLE

M ontagehandleiding
Notice de montage

Assembling manual
M ontageanleiting

Leeftijd:
Age: 6-12
Age group:
Alter:
Edad:

EUROPLAY nv

Eegene 9

B-9200 DENDERMONDE
tel. 32.52.22 66 22
fax.32.52.22 67 22
www.europlay.eu

| nstrucciones para el montaje

Dat.: 13/12/2012
Page: 1/10

VALHOOGTE / HAUTEUR DE CHUTE i
FALL HEIGHT / FALLHOHE / ALTURA DE CAIDA

77
UL

1997

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA

SICHERHEITSABSTAND / ZONA DE SEGURIDAD

AFMETINGEN
DIMENSIONS
MASSE

DIMENSIONES
L:3.0m
H: 2,.8m
Br: 2,9m

6643

Y

6532

38,5m2




S207

Montagehandleiding -- Assembling manual
Instfrucciones para el montaje
Notice de montage -- Montageanleiting

Dat.: 13/12/2012

Page: 2/ 10

Benodigdheden -- Liste des pieces -- Requisites -- Bendtigtes -- Accesorios

1x 1x 1x 1x 1x 1x 3X
H1
V1 V2 V3 V4 V5 V6
= = = = =
n - ] e v =
L \ \ \ @100x1300mm
3X
== ~ == ~ 7 |
P P s > H2
= e o Q %
o= <
o o @100x1300mm
- Q
o L @ [y 6X
~ B I L o s
== == == == =1 ==
== == = =< =] =
> +11kg s +11kg > +11kg s +11kg 3 +11kg > +11kg
@120x1750 @120x1750 @120x1750 @120x1750 @120x1750 @120x1750 D12
1x 1x 1x \ 1x \\
2X N
-
e—
&
e—
+53kg
2
1X g
aF N
2 +19kg L618 L600
—_——— e ———( ——t 4 &
BN BN BA3
H H H @33,7x1156mm @33,7x1156mm @33,7x1156mm
Red
1X
\ Ilm <= )
S e | | s | | =
O
+20kg U U




S207

Montagehandleiding -- Assembling manual
Instfrucciones para el montaje
Notice de montage -- Montageanleiting

Dat.:

13/12/201

NJ

Page: 3/ 10

Benodigdheden -- Liste des pieces -- Requisites -- Bendtigtes -- Accesorios

12x M8x115
Ax M10x155
8 MIID M10x155 (|| D
6X M12x320
12x M12x140
4x [: M10x40| | 8x B OS> M10x80
12X M8
18x M10x80 31x M10
18x M12
12x ) M8 10x M10
36x% Fjl M10 >
18x - M12 18x M12
=Py
22X @ . /X
blue 4X

8x _|_ 2X 8x
e 't e,
8x 2X




S207

Montagehandleiding -- Assembling manual
Instfrucciones para el montaje

Dat.: 13/12/2012

Notice de montage -- Montageanleiting Page: 4/ 10
_1166_ 1048 _ 4429 _
o] A
@) | P >
<A xR QY
B > N
I o
97
1824
o§ 1824 @ & SN%
™ - 1824 O
\a
9
| . y
Y| Y P
Ry 2 <
ol
™0
oy 1
_1127.| 1087 _ 4429 _
- 3949 _
2979
2201 _
2009
— 11 I
;
_.|/.0300 PN
| 672 PN
w7 NI
30 | R ‘,?3)
O K7 i 1 |\ Y<
o ~ | [Vea0],
uo) 7 Y
I i
018 EO /
0300
b’
x
X




Montagehandleiding -- Assembling manual | Dat.: 13/12/2012
5207 Instfrucciones para el montaje
Notice de montage -- Montageanleiting Page: 5/ 10

Dy v @

BAI

(] a\ (]
<SRNV
o ~_ | M10x90 o
@2x)

M12x320 @)

(2x) — :
N ¢

(—m )
5 / — M8x115 5 /
| /

H2

- —
N .
w/@@? (3D /| |
M12x140 il
(4x)
) .
° —f‘—/
o /L‘—-;
M10x155 b

& i (] )




Montagehandleiding -- Assembling manual | Dat.: 13/12/2012
5207 Instfrucciones para el montaje
Notice de montage -- Montageanleiting Page: 6/ 10

@ V2 V5

BAl

a
<SRNV
S~ M10x90
@2x)

M12x230 @)

(2x); | » QQE

© . ,
9/ (D Wg@ 9/
|

l "

)
o - B2

o N | —ll
M12x140 '
B . (4x)
)4 .
e __—]
. /@
MIOx1585 — A

& i ] ]




S207

Montagehandleiding -- Assembling manual
Instfrucciones para el montaje
Notice de montage -- Montageanleiting

Dat.: 13/12/2012

Page: 7/ 10

& C

<
o

MT10x155
(2x)
B——mmm

Vi

O
a

<SSV

~__| M10x90

@2x)
(—m )
(—mm 3D M8x115
M12x230 (@)

(2x); —

1x /

H2

©

— |
(—mm@B D ap
M12x140 / Il 1
4x)

AN

- 1d(

£ 3




Montagehandleiding -- Assembling manual | Dat.: 13/12/2012
5207 Instfrucciones para el montaje
Notice de montage -- Montageanleiting Page: 8/ 10
WA C.

Vi

|

V5

¢:&mmm®0@(@
M10x155
(4x)

[
M10x90
(10x)




Montagehandleiding -- Assembling manual
3207 Instrucciones para el montaje

Dat.: 13/12/2012

Notice de montage -- Montageanleiting Page: 9/ 10
©
v % Bw o
| — o
= 5
.
=
, [sImy
M10
Y —_ (100
§
M g
» I
M%[
|

140

692




S207

Montagehandleiding -- Assembling manual

Instfrucciones para el montaje

Notice de montage -- Montageanleiting

Dat.: 13/12/2012

Page: 10/ 10

I\

A

B /N
D ¢ eop oA
2x)

\

7] o]

g~ |

¢ .

|0,

11

®
.
;ﬁ
=

Q
T/_lTl’

200

170

Bij droog weer moeten alle bouten en schroeveneapmniaangespannen worden.
Par temps sec il faut resserrer régulierement fauwtesserie.

By dry and warm weather check the tightness dballls and screws.

Bei trockenem Wetter missen alle Schrauben undeBazifs neue angespannt werg
Para el tiempo seco, se necesita cerrar o ajustaninillos y tuercas.




